Instrukcja montazu gérnych gmoli dla / Upper crash bars installation instruction for

BMW R 1100 GS (93-99)

ﬁskiad zestawu wchodzi:

1. Orurowanie goérne,

2. 2 uchwyty,

3. 2 sruby imbusowe M6x20 mm z podkfadkami,

4. 2 Sruby imbusowe M6x20 mm z podktadkami i nakretkami.

The set includes: @

1. Upper piping,
2. 2 brackets,
3. 2 allen bolts M6x20 mm with  washers,

&2 allen bolts M6x20 mm with  washers and nuts. /

M=

www.heed.com.pl

4 ) "\

Orurowanie powinno by¢ zaktadane tylko przez osobe wykwalifikowang. Nalezy zwrdcié
szczegblng uwage na wigzki elektryczne, przewody hamulcowe oraz przewody gumowe
chtodzenia silnika tak, aby nie byty przycisniete lub nie tarty podczas eksploatacji o
gmole z powodu Zle przeprowadzonego montazu orurowania.

Catos¢ orurowania zatozy¢ swobodnie dopiero na koncu skreci¢ docelowo.

1. Usung¢ 2 oryginalne sruby mocujace gérny btotnik motocykla (,,dzidb”) w miejscach
wskazanych na Rys. 1 pkt. 2.

2. W miejscu usunietych srub przykreci¢ 2 uchwyty z zestawu instalacyjnego uzywajac
dostarczonych srub M6x20 mm z podktadkami.

3. Dolng cze$¢ orurowania zatozy¢ na sruby od poprzeczki orurowania dolnego(Rys. 2
pkt. 1).

4. Gérne uchwyty orurowania przykrecié¢ za pomoca $rub z podktadkami i nakretkami z
zestawu do uprzednio zamontowanych uchwytéw pod , dziobem”motocykla (Rys. 1
pkt. 3)

5. Dokreci¢ sruby mocujgce orurowanie.

Piping should be installed only by a qualified person. @
Pay particular attention to the electric beams, brake hoses and rubber hoses for engine
cooling, so that they are not pinched or they doesn't chafe during operation due to
wrong installation of piping.

During installation it is recommended to set up piping freely.

1. Remove two original bolts that holding the upper fender of the motorcycle in places
shown in Fig. 1 pt. 2.

2. In place of removed bolts screw 2 brackets from the installation kit using the supplied
M6/20 mm bolts with washers.

3. The lower part of the piping screw by the bolts holding lower piping connector (Fig. 2
pt. 1).

4. In the upper part screw the piping by M6x20 mm bolts with washers and nuts from
the kit to the previously installed brackets under the mudguard of the motorcycle
(Fig. 1 pt. 3)

5. Tighten all the piping.

. /




Instrukcja montazu gérnych gmoli dla / Upper crash bars installation instruction for

BMW R 1100 GS (93-99)

M=

www.heed.com.pl




